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BCom Sem 5 Examination
Core Elective - 302
(Adv Stat) - Stat - VIII
Time : 2-00 Hours] May 2022 [Max. Marks : 50

Instructions :All Questions in Section - | carry equal marks
Attempt any Two questions in Section - |

Question V in Section - 1l is Compulsory

Section - |
Que:1 (a) Explain how will test the significance of difference between means in small sample test. (10)

(1) @y el A Hea2u8lot dstaol s clle] ulawgl wrend.

(b) An IQ test was administered to 12 students before and after they were trained. The results

are given below: (10)

Students 1 2 3 4 5 6 7 8

Marks before training | 44 40 |61 |52 32 44 70 41 67
marksaftertraining 53 38 |69 |57 |46 39 |73 48 73

Test whether there is any change in marks of students after the training program.

9 12

72
78

[t ©0.05,11) = 1.80 for one tailed test » tos1y =2.201 for two tailed test]

(o) 12 [Quelleell el ude wa el ugdl ae Aol s Qe well,

MBAL Gurell cttellnt w5128 sl 3 3n Q t-ulael git sud.

Students 1 2 3 4 5 6 7 8 9

Marks before training | 44 40 {61 |52 32 44 70 41 67
| Marks after training | 53 38 |69 |57 |46 (39 |73 |48 |73
[t (0.05,12) = 1.80 for one tailed test » Y511 =2.201 for two tailed test]

Que:2 (a) Explain goodness of fit test. (10)

() vocllalloset Aloldie] uletnl yromdl.
(b) 4 coins are tossed for 320 times. 12 times 4 heads, 86 times 3 heads, 138 times 2 heads,

68 times 1 head and 16 times 0 Head occurs. Test the hypothesis that “ the coins are
unbiased”’. [ X2t (0.05,4) = 9.49] {10)

(W) AR Rsst AsUA 320 clvid GOLAClHL AU 12 culd 4 LY, .86 culd 3 By,
138 Akl 2 91U ,68 AW 1 U A 16 clu{d AsuRl v1u Uscl oell, “@ssiad
Uoi(Aletcl B A URscuslle] udlewl 53l | [ X%t 0054 =9.49]

P-T- 0.
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Que:3  (a) Explain the technique of One- way analysis of variance. {10)
() As ol [Qu0le] Yeauswel AHAA

(b) The following samples are drawn from two normal population test the hypothesis that

the population variances are equal. (10)
Sample A | 13 10 14 10 8
SampleB | 16 14 14 16 11 15 12

[Fr(a,6,5%) = 4.53, Fyg,a5% = 6.16]

(o) oyl qHR Ui @Aesl B oA Yoot B, A Q0L Aot B AN 58l Ausia?

Sample A | 13 10 14 10 8
Sample B | 16 14 14 16 11 15 12

[Fi(a,6,5% = 4.53, Fye,45%) = 6.16]

Que :4 (a) With reference to non-parametric test, explain Median Test. {10)

() @et yucllar udlatel W2 Hraze udlatel uxostdl,

(b) verify that the following two samples are drawn from same populations or not. Use

Mann-Whitney U-test. (10)

Sample | |70 | 68 73 81 66 56 62 75 83 48

Sample Il | 72 | 67 74 65 63 77 71 60 76 61 64

(60) oA et (el Asos AnRuiell Acumi vl B 3 ol QA audl.

Hiot-cgleol ‘U udletatell Guallol 53,

(leel ) |70 | 68 73 81 66 56 62 75 83 48
el n | 72 | 67 74 65 63 77 71 60 76 61 64
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SECTION —B

choose the correct alternatives given below: {10)

(1) In small sample test sample size is
ay el ullewanl [Aesl vacdisotoll v --- sl 8.
(M) n< 30 (W) n> 30

(5) n< 30 () n=> 30

(2) In t-test the test of significance of a small sample the standard error is

t—udletai el Heasol welsdle] udlagl sal

HER yHdld ey - 8.

(@) = (o) ==
() 2 (5) =

(3) Hy:p =0Vs Hy:p #0is type of hypothesis .

Hy:p =0Vs Hy:p # 0 --—-- ysRe{l URscuatl 8.
(a) One tailed test W$ BsLall (b) two tailed test A Bste{l
(c) central tailed Ht2l ®sle{l (d) None of them s UQL o8l

(5) InF-test, If n,=5,n, =7 and F, =1.63 then, F, = -----

F-udeQi R n,=5n, =7 WUAE =1.63 8 AL F, = - a2l
(@) Fr (s7,50) = 3-97 (b) Fy (4650 = 4.53
(c) Ff,(514,5%) = 6.16 (d) Ft,(ﬁls,s%) = 4.95

(6) InF-test,If n,= 5, 5,2=4.8and n,= 7 ,s,°= 3.1428 then, F, = --- .
F-udlaQin,= 5, 5,2 =48 dl n,= 7, s,%= 3.1428 8- Al F, = ——-.
(a) 1.63 (b) 1.53

(c)1.96 (d) 0.5

P.T 0
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(7) In non-parametric test test is more powerful then sign test

@Qot-yiucllal udlaal st uRatel sedl oy wHed urlad udlawl ---- 8.
(a) Men-Whitney test Not-Aesll ulawl

(b) Paired sign test gorllyct st ulawy

(c) Wilcoxon test Qeslat sHis udlawl

(d) All Above ol

(8) In Wilcoxon Rank Test formula for finding mean u is

(Qetslatet sHis uIlatel Heas p lucle] Yoi--- 8.

(a) n(r;+1) (b) n(r;+1)
(c)2n,m, (d) None of them 3§ UL o1&l .
(9) In Non-parametric test for large value of N all distribution follows distribution .

Qot-yru@2l udlai N ol Bud vol 0 8l U €35 QAcRkal _ (Al o

UGUR B,
(a) Normal  YLHIRA (b) Ftest F-u3laldl
(c) t-test t— udlaw (S) None of above W§ UBL ol&l .

{10) In Paired sign test the number of both the sample size are ___

yalsd st ula@ul oial Real ot Uacdlsatloll vl ------ alell A .
(a) same YHlot (b)different WY Hlol

(c) opposite f&ga (d)None of above s uel A8l .



